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98 107 87 128 113 79
154 143 164 | 169 147 129

> g oY 25
> e Feo B

&8

Ao BE :

(98 + 107 + 87 4 154 + 143 + 164) = 6
=753+ 6 = 125.5 (2])

FHoly BE !

(128 + 113 + 79 4 169 + 147 4 129) = 6
=765+ 6 = 127.5 (3])
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2+ 29 + 39 + 42 + 38) = 42(%)
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88 | 47 | 92 | 65 | 83
54 | 72 | 36 | 14 | 66

> =
> Hehl 617
@)= — A g
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(A= 88 4+47+ 92+ 65+ 83 + 54 + 72+ 36 + 14 +66 = 617
(A= 9] 7)== 1070

(BaH)= 617+ 10 = 61.7

N
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warolo} QlEo] o] AA Y th Bt A

o 44 (29l : H)
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e 2% | 13 | 29 | 33

ks 94 | 88 | 97

e 84 | 93 | 90
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kol o] B+t :

(944 88 4+ 97) + 3 =279 = 3 = 93(H)

A Bt

(84 4+ 93 4 90) + 3 = 267 = 3 = 89(H)
kA, Bxko] 7t 93 - 89 = 4(H) o E=HYTh
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2 ApAtel] 4t 60 714 15 AAE7E 1AL, v 9 AbAtel] 4t 50 7H4
AAZF7E QA F& 7k Ao Wi 150 N4 5 AFAE 5tk
2 Sk 7] 400 €4, 8= S 7ol 500 €A, 22 S 7 350 €A
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(F )= 60 x 15 x 400 = 360000 (Q)
(¥ ZH)= 50 x 10 x 500 = 250000 ()
(2 7= 150 x 5 x 350 = 262500 ()

wk2kA] 36000 + 25000 + 262500 = 872500() YLiTh.
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(160 x5+ 55%x2) +7 =130 (
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A o]o] 35 S Lebd ZAJUtt 53] AldollA B HL Hotof
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a5 13] | 298] | 38] | 48] | 53]
A=) [ 88 | 75 | 89 | 96
» g 3
> =t A
Bt = A5 dHA+ 27 o]
=Yt

AA FANA 535 AQlet 42 g2
53] H4 1 85 x5 — (88 4 75 + 89 + 96)
= 425348 = 77 ()
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50x30 = 1500 (&)
J=E2 1500 + 500 = 3 (H)
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600+ 3=200(Y) A F1 A5Yrh.
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